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Row Reduction Worksheet, Math 202

Name:

Section:

You should be able to do this whole packet in approximately Llo'minutes,
by working efficiently but without rushing.
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2 4 =210
(2) Solve the system of equations with augmented matrix 0 4 2 | -6
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(4) Give an example of the augmented matrix of a system of 3 equations in 3 variables . ..
(Hint: you can make the systems as simple as you like.) rows “;z? “(’J
(a) with a unique solution
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(c) with infinitely many solutions. A
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(5) Give an example of the augmented matrix of a system of 2 equations in 3 variables . ..
(Hint: you can make the systems as simple as you like.) rows ‘4‘ col '}
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(6) Use Theorem 2 to prove that you cannot write a system of 2 equations in 3 variables that has a
unique solution. (Hint: your argument must consider all relevant reduced-echelon form matrices.)
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7. Find the general solution (in parametric form) for a system
whose augmented matrix is row equivalent to
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